
12

60

1

4

6

7

10

11
12

1

17

19

19

20

8

25

25

26

27

29

29

29

29

29

30
30

30

31

32

33

35

35

35

36

72

68

68

38

38

38

38

70

40

40 66

66

59

42

41

43
44

46
47

48

47 49

50

45

45

70

70

54

54

55

56

57

47

42

54

58

58

62
54

54

5

71

64

31

69

69

39

67

28

28

18
58

58

58

58

78

78

76

77

74

75

73

EXPLODED DRAWING—Model No. GZFM6006.4 R0205A

Page 1 of 2

 



2

3

5

7

9
11

63

13

14

15

21

16

19

19

8

22

23

23
24

65

25

25

2

26

27

27

29

29

29 61

61

31

32

33

34

35

35

36

68

37

37

72

70

70

66

66

40

40
42

41

43
44

46
47

48

47 49

50

45

45

51

51

51

51

52

52

53

53

53

53
54

54

47

47

42

54

55 56 57

58

58

5

59

59
62

24

3169

69

28

28

397

76

77
7574

7

13

Page 2 of 2



Bubble# OEM Number Description
2 GZ4549-02 ACCESS COVER
3 GZ5461 RIGHT SUPPORT LEG
4 GZ5462 LEFT SUPPORT LEG
8 GZ5001-01 SWIVEL ARM

11 GZ3144 ADJUSTMENT BRACKET
12 GZ5065-01 LEFT CABLE COVER
13 GZ3072-03 LARGE WEIGHT
14 GZ3072-02 SMALL WEIGHT
15 GZ4506 TOP WEIGHT ASSY
16 GZ3203-02 RIGHT SUPPORT LEG COVER
17 GZ3203-01 LEFT SUPPORT LEG COVER
18 GZ3202 TOWER COVER
19 GZ1517 FLOOR BUMPER
20 GZ3116 HANDLEBAR
21 GZ3248-03 WEIGHT GUIDE ROD
22 GZ1001 WEIGHT BUMPER
24 GZ1020 SMALL WEIGHT GUIDE BSHG
25 GZ1100 ARM BUMPER
26 GZ3053 TRUNNION
27 GZ1003-09 3.5" PULLEY
29 GZ1003-01 4.5" PULLEY
30 GZ3102 CABLE TRAP
31 GZ1011-01 PIVOT PULLEY BEARING
32 GZ1050 1" WASHER
33 GZ1049 1" WAVE WASHER
34 GZ1656 WEIGHT PIN
35 GZ1012-07 3/8" X 1/2" SCREW
36 GZ1013-11 3/8" X 4.5" SCKTHD SCREW
37 GZ1014-05 3/8" X 2.25" BOLT
38 GZ1013-04 3/8" X 2" BOLT
39 GZ1097 ROLL PIN
40 GZ1015-05 5/16" X 5/8" SCKTHD SCREW
41 GZ1009-01 1/2" X 1" BOLT
42 GZ1042-02 3/4" X 1/2" SHLDR BOLT
43 GZ3052-07 CABLE
44 GZ1062 RUBBER COVER
45 GZ1047 1/4 - 20 UNC SET SCREW
46 GZ3238 ALUMINUM COUPLER
47 GZ1075 3/8" JAM NUT
48 GZ1011-02 CABLE BEARING
49 GZ1070 EYEBOLT
50 GZ1018-03 1 1/8" RETAINER RING
51 GZ1084 5/8" NUT
52 GZ1085 5/8" LOCK WASHER
53 GZ1069 3/8" SERRATED LOCK WASHER
54 GZ1007 3/8" NUT

https://www.gympart.com/itemdesc.aspx?ic=MDP139&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=MDP139&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=MDP139&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=MDP139&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS130&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS653&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS177&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10046&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10041&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS174&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMSAB105&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS139&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10045&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS659&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS113&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10051&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10279&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMSAB102&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS138&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS171&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS112&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMSAB101&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS137&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS163&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS164&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS091&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS104&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS563&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMSAB103&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS136&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMSAB104&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS152&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS655&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10049&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS654&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10006&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS095&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS100&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS669&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS140&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10039&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10037&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10136&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS099&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10141&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS175&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10140&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10139&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10138&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS141&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS110&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10137&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10132-732&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10132-606&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10132-611&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10132&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10025&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10135&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10133&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10134&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams


55 GZ3350 ADJUSTMENT KNOB
57 GZ3351 ADJUSTMENT PIN
58 GZ1021-01 RIVET
59 GZ1094 1/4" NUT
60 GZ5109-08 HANDLE
61 GZ3091 DOUBLE CABLE TRAP
62 GZ1018-01 1" RETAINER RING
63 GZ5065-02 RIGHT CABLE COVER
64 GZ1086-02 GRIP
65 GZ1024 LARGE WT GUIDE BUSHING
66 GZ1038-03 1/2" X 1" BOLT
68 GZ1188 3/8" X 1.5" BOLT
69 GZ1485 3/4" PIVOT BUSHING
70 GZ1013-01 3/8" X 3/4" SCKTHD SCREW
71 GZ3105 TOWER COVER
72 GZ1013-02 3/8" X 1.75" BOLT
73 GZ5109-15 ANKLE STRAP
74 GZ1071 BUNGEE CLIP
75 GZ1066 #10 X 1/2" SCREW
76 GZ0087 BUNGEE CORD
77 GZ1081 BUNGEE TIE
78 GZ1074 5/16" WASHER
# GZ7003 10 POINT WARNING DECAL
# GZ7004 INTERNAL WARNING DECAL
# GZ7005 CAUTION MOVING PART DECAL
# GZ7006 DO NOT USE CAUTION DECAL
# GZ7008 WARNING PINCH DECAL
# GZ7026 SELECTOR PIN INSERT DECAL
# GZ7060-01 DECAL, BLK CC-SHOULDER
# GZAC1024 ACCESSORY HANDLES

https://www.gympart.com/itemdesc.aspx?ic=MDP139&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=MDP139&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS170&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10240&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS107&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10040&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10022&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS189&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS172&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10252&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10048&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10026&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS181&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10020&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10002&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10112&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS154&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10015&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS132&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10017&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=MCA7128&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS128&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS096&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10053&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10054&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10055&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10056&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10057&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

	GZFM6006.4ed
	GZFM_6006.4_Cable_Cross Parts List
	GZFM_6006.4_Cable_Cross


